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9.1

11408697744942780502640946320587481780459160973283691508131516
= 22 · 3 · 41 · 594 · 103 · 1495 · 353 · 8233 · 1409 · 18734 · 42013
⇒ m=2 (3 Symbole), k=1 (2 Zustände)

i σ2 mit j=3 σ2 mit j=4 Primσ2 mit j=3 Primσ2 mit j=4

1 13 17 41 59

2 27 35 103 149

3 55 71 257 353

4 111 143 607 823

5 223 287 1409 1873

6 447 575 3163 4201

s0 t s1 r

s0 x1 s1 h

s0 x2 s0 a

s1 t s0 l

s1 x1 s1 r

s1 x2 s0 l
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9.2

m=1 (2 Symbole), k=5 (6 Zustände)

i cj=3 cj=4

1 3 3

2 1 1

3 4 2

4 3 2

5 5 1

6 4 3

i cj=3 cj=4

7 1 4

8 0 2

9 0 1

10 2 4

11 1 1

12 0 3

i σ2,j=3 σ2,j=4

1 13 17

2 27 35

3 55 71

4 111 143

5 223 287

6 447 575

i σ2,j=3 σ2,j=4

7 895 1151

8 1791 2303

9 3583 4607

10 7167 9215

11 14335 18431

12 28671 36863

i Primσ2,j=3 Primσ2,j=4

1 41 59

2 103 149

3 257 353

4 607 823

5 1409 1873

6 3163 4201

i Primσ2,j=3 Primσ2,j=4

7 6967 9293

8 15329 20389

9 33469 44267

10 72461 95597

11 155707 205549

12 333397 438967

⇒ G(M) = 2 · 35 · 413 · 593 · 103 · 149 · 2574 · 3532 · 6073 · 8232 · 14095 · 1873 · 31634 ·
42013 · 6967 · 92934 · 203892 · 44267 · 724612 · 955974 · 155707 · 205549 · 4389673 =
7617437443459843908787165055708056579069302795662119645960550882237545173718
14491376546913338586228482211734650210377677253875416191152874236087576270430
657610915085711885647626578
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